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1\ ¥\2 _ 1/\n 2 V)
Var(X) = 5 220 fitki = X)* = (021, i) = X

J

Bindeshwar Singh Kushwaha (PostNetwork Academy) Question Based on Variance




If x; are observations and f; are frequencies of observations then variance is
1\ ¥\2 _ 1/\n 2 V)
Var(X) = 5 220 fitki = X)* = (021, i) = X

Var(X) =
7 i filxi — X)?

J

Bindeshwar Singh Kushwaha (PostNetwork Academy) Question Based on Variance




If x; are observations and f; are frequencies of observations then variance is

Var(X) = § 301, filx = X)? = { (2L, fix?) — X

Var(X) =
7 i filxi — X)?

= ﬁ 27:1 ﬁ(x,-2+)_(2—2x,-)_()J

J

Bindeshwar Singh Kushwaha (PostNetwork Academy) Question Based on Variance

4

4



If x; are observations and f are frequencies of observations then variance is
X)? =1 no£ o2 22
Var(X) = 5 >0, f = a2 i) - X J

Var(X) = _
% 27:1 fi(xi — X)2 J

= NZ: L fi(x{ 24 X? —2X,X)J

= (L D -
2X (5 2or, fixi) + M5

Bindeshwar Singh Kushwaha (PostNetwork Academy) Question Based on Variance



If x; are observations and f are frequencies of observations then variance is
X)? =1 no£ o2 22
Var(X) = 5 >0, f = a2 i) - X J

Var(X) = _
% 27:1 fi(xi — X)2 J

= NZ: L fi(x{ 24 X? —2X,X)J

= (L D -
2X (5 2or, fixi) + M5

=i, f,~x,-2)—2)_(2—|—)_(2J

Bindeshwar Singh Kushwaha (PostNetwork Academy) Question Based on Variance



If x; are observations and f are frequencies of observations then variance is
X2 = 2(37 fix?) — X2
Var(X) = § 300, f = a2 i) - X

Var(X) = _
% 27:1 fi(xi — X)2 J

= NZ: L fi(x{ 24 X? —2X,X)J

= (L D -
2X (5 2or, fixi) + M5

=i, f,~x,-2)—2)_(2—|—)_(2J

S HSL A -X |

Bindeshwar Singh Kushwaha (PostNetwork Academy) Question Based on Variance

4/

4



If x; are observations and f; are frequencies of observations then variance is

Var(X) = % 27:1 fi(xi — X)? = ﬁ

(27:1 f,.XI?) _ X2

fixi

X,‘*X

fi(x — X)?

Var(X) =
% Z:,:l fi(xi — X)? ’

(SIS I S B

i
o1

=N ﬁ(xl'2+>_<2—2Xi)_<)J

o1 & O Co

= %(Z:’:l f;xlz) - s
2X(h S0 ) + 25

= §(ZL, fixf) —2X7+ X° |

i=1

“HTL A X

Bindeshwar Singh Kushwaha (PostNetwork Academy)

Question Based on Variance



If x; are observations and f; are frequencies of observations then variance is

Var(X) = % 27:1 fi(xi — X)? = ﬁ

(27:1 f,.XI?) _ X2

fixi

X,‘*X

fi(x — X)?

Var(X) =
% Z:,:l fi(xi — X)? ’

(SIS I S B

i
o1

=N ﬁ(xl'2+>_<2—2Xi)_<)J

o1 & O Co

=2
Il

@
S

= %(Z:’:l f;xlz) - s
2X(h S0 ) + 25

= §(ZL, fixf) —2X7+ X° |

i=1

“HTL A X

Bindeshwar Singh Kushwaha (PostNetwork Academy)

Question Based on Variance



If x; are observations and f; are frequencies of observations then variance is

Var(X) = % 27:1 fi(xi — X)? = ﬁ

(27:1 f,.XI?) _ X2

fixi

X,‘*X

fi(x — X)?

Var(X) =
% Z:,:l fi(xi — X)? ’

(SIS I S B

i
o1

=N ﬁ(xl'2+>_<2—2Xi)_<)J

o1 & O Co

=2
Il

@
S

= %(Z:’:l f;xlz) - s
2X(h S0 ) + 25

= §(ZL, fixf) —2X7+ X° |

i=1

“HTL A X

Bindeshwar Singh Kushwaha (PostNetwork Academy)

Question Based on Variance



If x; are observations and f; are frequencies of observations then variance is

Var(X) = % 27:1 fi(xi — X)? = ﬁ

(27:1 f,.XI?) _ X2

fixi

X,‘*X

fi(x — X)?

16

Var(X) =
% Z:,:l fi(xi — X)? ’

(SIS I S B

i
o1

=N ﬁ(xl'2+>_<2—2Xi)_<)J

o1 & O Co

=2
Il

@
S

= %(Z:’:l f;xlz) - s
2X(h S0 ) + 25

= §(ZL, fixf) —2X7+ X° |

i=1

“HTL A X

Bindeshwar Singh Kushwaha (PostNetwork Academy)

Question Based on Variance



If x; are observations and f; are frequencies of observations then variance is

Var(X) = % 27:1 fi(xi — X)? = ﬁ

(27:1 f,.XI?) _ X2

fixi

X,‘*X

fi(x — X)?

16

Var(X) =
% Z:,:l fi(xi — X)? ’

(SIS I S B

30

i
o1

=N ﬁ(xl'2+>_<2—2Xi)_<)J

o1 & O Co

=2
Il

@
S

= %(Z:’:l f;xlz) - s
2X(h S0 ) + 25

= §(ZL, fixf) —2X7+ X° |

i=1

“HTL A X

Bindeshwar Singh Kushwaha (PostNetwork Academy)

Question Based on Variance



If x; are observations and f; are frequencies of observations then variance is

Var(X) = % 27:1 fi(xi — X)? = ﬁ

(27:1 f,.XI?) _ X2

Var(X) =
% Z:,:l fi(xi — X)? ’

=N ﬁ(xl'2+>_<2—2Xi)_<)J

Xi f; fixi x;i — X (x; — )_()2 fi(xi — )_()2
2 4 8
4 4 16
6 5 30
8 15 120
10 8
12 5
14 4
16 5
N=50

= %(Z:’:l f;xlz) - s
2X(h S0 ) + 25

= L0, fix?) 72)'<2+)'<2J

“HTL A X

Bindeshwar Singh Kushwaha (PostNetwork Academy)

Question Based on Variance



If x; are observations and f; are frequencies of observations then variance is

Var(X) = % 27:1 fi(xi — X)? = ﬁ

(27:1 f,.XI?) _ X2

Var(X) =
% Z:,:l fi(xi — X)? ’

=N ﬁ(xl'2+>_<2—2Xi)_<)J

Xi f; fixi x;i — X (x; — )_()2 fi(xi — )_()2
2 4 8
4 4 16
6 5 30
8 15 120
10 8 80
12 5
14 4
16 5
N=50

= %(Z:’:l f;xlz) - s
2X(h S0 ) + 25

= L0, fix?) 72)'<2+)'<2J

“HTL A X

Bindeshwar Singh Kushwaha (PostNetwork Academy)

Question Based on Variance



If x; are observations and f; are frequencies of observations then variance is

Var(X) = % 27:1 fi(xi — X)? = ﬁ

(27:1 f,.XI?) _ X2

Var(X) =
% Z:,:l fi(xi — X)? ’

=N ﬁ(xl'2+>_<2—2Xi)_<)J

Xi f; fixi x;i — X (x; — )_()2 fi(xi — )_()2
2 4 8
4 4 16
6 5 30
8 15 120
10 8 80
12 5 60
14 4 56
16 5
N=50

= %(Z:’:l f;xlz) - s
2X(h S0 ) + 25

= L0, fix?) 72)'<2+)'<2J

“HTL A X

Bindeshwar Singh Kushwaha (PostNetwork Academy)

Question Based on Variance



If x; are observations and f; are frequencies of observations then variance is

Var(X) = % 27:1 fi(xi — X)? = ﬁ

(27:1 f,.XI?) _ X2

Var(X) =
% Z:,:l fi(xi — X)? ’

=N ﬁ(xl'2+>_<2—2Xi)_<)J

Xi f; fixi x;i — X (x; — )_()2 fi(xi — )_()2
2 4 8

4 4 16

6 5 30

8 15 120

10 8 80

12 5 60

14 4 56

16 5 80

N=50 [ D7 fix =450

= %(Z:’:l f;xlz) - s
2X(h S0 ) + 25

i=1

= §(ZL, fixf) —2X7+ X° |

“HTL A X

Bindeshwar Singh Kushwaha (PostNetwork Academy)

Question Based on Variance



If x; are observations and f; are frequencies of observations then variance is
1\ ¥\2 _ 1 n 2 )
Var(X): Nzizl ﬁ(X,'*X) = N(Z,’:l ﬁX,-)*X

Xi f; fixi x;i — X (x; — )_()2 fi(xi — )_()2
Var(X) = 2 4 8
L o 1 Z 16
T filxi — X) 6 5 30
B 5 120
10 F) 80
_ _ 2 5 60
1 n 2 2
=¥ 2 il +X —2XiX)J 1z 3 56
16 5 80
N=50 Zi”:l fix; = 450
1 N __ 450
N iz fixi = 55 =9

2

= %(Z:’:l f;xlz) - _ )_< =
2X(h 3op ) +

i=1

= §(ZL, fixf) —2X7+ X° |

“HTL A X

Bindeshwar Singh Kushwaha (PostNetwork Academy)

Question Based on Variance



If x; are observations and f; are frequencies of observations then variance is
1\ ¥\2 _ 1 n 2 )
Var(X): Nzizl ﬁ(X,'*X) = N(Z,’:l ﬁX,-)*X

Xi f; fixi x;i — X (x; — )_()2 fi(xi — )_()2
VERCS) T s -
N> filxi — X)? ’ 6 [ 5 30
3 15 120
10 ] 80
_ _ i 5 60
1 n 2 2
=¥ 2 il +X —2XiX)J w4 56
16 5 80
N=50 Zi”:l fix; = 450
1 ~~n __ 450
n2im fixi= % =9

2

= %(Z:’:l f;xlz) - _ )_< =
2X(h 3op ) +

i=1

= §(ZL, fixf) —2X7+ X° |

“HTL A X

Bindeshwar Singh Kushwaha (PostNetwork Academy)

Question Based on Variance



If x; are observations and f; are frequencies of observations then variance is
1\ ¥\2 _ 1 n 2 )
Var(X): Nzizl ﬁ(X,'*X) = N(Z,’:l ﬁX,-)*X

Xi f; fixi x;i — X (x; — )_()2 fi(xi — )_()2
— 2 4 8 -7
‘l/ar()n() = s 7 3 16 5
T filxi — X) 6 5 30
B 5 120
10 F) 80
_ _ 12 5 60
1 n 2 2
= i 0 +X —2XiX)J W 4 56
16 5 80
N=50 Zi”:l fix; = 450
1 N __ 450
n2im fixi= % =9

2

= %(Z:’:l f;xlz) - _ )_< =
2X(h 3op ) +

i=1

= §(ZL, fixf) —2X7+ X° |

“HTL A X

Bindeshwar Singh Kushwaha (PostNetwork Academy)

Question Based on Variance



If x; are observations and f; are frequencies of observations then
Var(X) = & S0, filxi — X = 50, fix?) = X2

variance is

Xi f; fixi x;i — X (x; — )_()2 fi(xi — )_()2
— 2 4 8 -7
\l/ar()n<) = s Z 7 16 5
T filxi — X) 6 5 30 -3
B 15 120
10 F) 80
_ _ 12 5 60
1 n 2 2
=5 2 i +X —2XiX)J w4 56
16 5 80
N=50 [ D7 fix =450
— 1S £e2) v 1" __ 450
_N(Z,‘:lf;xl) X:N ilﬁx.zﬁ_g

2

2X(y iy fx) + -

i=1

= §(ZL, fixf) —2X7+ X° |

“HTL A X

Bindeshwar Singh Kushwaha (PostNetwork Academy)

Question Based on Variance



If x; are observations and f; are frequencies of observations then variance is
1\ ¥\2 _ 1 n 2 )
Var(X): Nzizl ﬁ(X,'*X) = N(Z,’:l ﬁX,-)*X

Xi f; fixi x;i — X (x; — )_()2 fi(xi — )_()2
— 2 4 8 -7
‘l/ar()n() = s 2 | 4 16 5
T filxi — X) 6 5 30 -3
B 5 120 1
10 F) 80
_ _ 12 5 60
1 n 2 2
=¥ 2 il +X —2XiX)J 1z 3 56
16 5 80
N=50 [ D7 fix =450
— (N £.2) v 1 N 450
_N(Zizlf‘x’) X:N ilfix':ﬁ_9

2

2X(y iy fx) + -

i=1

= §(ZL, fixf) —2X7+ X° |

“HTL A X

Bindeshwar Singh Kushwaha (PostNetwork Academy)

Question Based on Variance



If x; are observations and f; are frequencies of observations then variance is
1\ ¥\2 _ 1 n 2 )
Var(X): Nzizl ﬁ(X,'*X) = N(Z,’:l ﬁX,-)*X

Xi f; fixi x;i — X (x; — )_()2 fi(xi — )_()2
— 2 4 8 -7
‘l/ar()n() = s 2 | 4 16 5
T filxi — X) 6 5 30 -3
8 15 120 1
10 8 80 1
_ - 2 5 60
1 n 2 2
=¥ 2 il +X —2XiX)J 1z 3 56
16 5 80
N=50 [ D7 fix =450
— 1y £ 2y Y _ 1 \n 450
_N(Zizlf‘x’) X:N ilfix':ﬁ_9

2

2X(y iy fx) + -

i=1

= §(ZL, fixf) —2X7+ X° |

“HTL A X

Bindeshwar Singh Kushwaha (PostNetwork Academy)

Question Based on Variance



If x; are observations and f; are frequencies of observations then variance is
1\ ¥\2 _ 1 n 2 )
Var(X): Nzizl ﬁ(X,'*X) = N(Z,’:l ﬁX,-)*X

Xi f; fixi x;i — X (x; — )_()2 fi(xi — )_()2
— 2 4 8 -7
‘l/ar()n() = s 2 | 4 16 5
T filxi — X) 6 5 30 -3
B 5 120 1
10 F) 80 1
— — 12 5 60 3
1 n 2 2
=¥ 2 il +X —2XiX)J 1z 3 56
16 5 80
N=50 Zi”:l fix; = 450
1 N __ 450
n2im fixi= % =9

2

= %(Z:’:l f;xlz) - _ )_< =
2X(h 3op ) +

= §(ZL, fixf) —2X7+ X° |

i=1

“HTL A X

Bindeshwar Singh Kushwaha (PostNetwork Academy)

Question Based on Variance



If x; are observations and f; are frequencies of observations then variance is
1\ ¥\2 _ 1 n 2 )
Var(X): Nzizl ﬁ(X,'*X) = N(Z,’:l ﬁX,-)*X

Xi f; fix; xi— X | (xi— X)2 fi(xi — X)?
_ 2 4 8 7
‘l/ar()n() = s 7 3 16 5
T filxi — X) 6 5 30 -3
8 15 120 1
10 8 80 1
_ _ 2 5 60 3
1 n 2 2
=¥ 2 il +X —2XiX)J 1z 3 56 5
16 5 80
N=50 [ D7 fix =450
— 1y £ 2y Y 1N\ 450
_N(Zizlf‘x’) X:N ilfix':ﬁ_9

2

2X(y iy fx) + -

= L0, fix?) 72)'<2+)'<2J

“HTL A X

Bindeshwar Singh Kushwaha (PostNetwork Academy)

Question Based on Variance



If x; are observations and f; are frequencies of observations then variance is
1\ ¥\2 _ 1 n 2 )
Var(X): Nzizl ﬁ(X,'*X) = N(Z,’:l ﬁX,-)*X

Xi f; fixi x;i — X (x; — )_()2 fi(xi — )_()2
— 2 4 8 -7
‘l/ar()n() = s 2 | 4 16 5
T filxi — X) 6 5 30 -3
3 15 120 1
10 8 80 1
_ _ 2 5 60 3
1 n 2 2
=¥ 2 il +X —2XiX)J 1z 3 56 5
16 5 80 7
N=50 [ D7 fix =450
— 1y £ 2y Y _ 1 \n 450
_N(Zizlf;xl) X:N ilﬁx.zﬁ_g

2

2X(y iy fx) + -

= L0, fix?) 72)'<2+)'<2J

“HTL A X

Bindeshwar Singh Kushwaha (PostNetwork Academy)

Question Based on Variance



If x; are observations and f; are frequencies of observations then variance is
1\ ¥\2 _ 1 n 2 )
Var(X): Nzizl ﬁ(X,'*X) = N(Z,’:l ﬁX,-)*X

Xj f; ﬁX,‘ Xi — )_< (X,' - 5()2 f}(X,‘ - )_<)2
_ 2 4 8 7 19
‘l/ar()n() = s 2 | 4 16 5
T filxi — X) 6 5 30 -3
8 15 120 1
10 8 80 1
_ _ 12 5 60 3
1 n 2 2
=¥ 2 il +X —2XiX)J 1z 3 56 5
16 5 80 7
N=50 [ D7 fix =450
1 n 2 < -
:N(Zizlﬁxi)_ X:% 7:17(")(':%:9
- 2
2X (5 i i) + 11

= L0, fix?) 72)'<2+)'<2J

“HTL A X

Bindeshwar Singh Kushwaha (PostNetwork Academy) Question Based on Variance



If x; are observations and f; are frequencies of observations then variance is
1\ ¥\2 _ 1 n 2 )
Var(X): Nzizl ﬁ(X,'*X) = N(Z,’:l ﬁX,-)*X

Xj f; ﬁX,‘ Xi — )_< (X,' - 5()2 f}(X,‘ - )_<)2
_ 2 Z B 7 19
‘l/ar()n() = s 2 | 4 16 5 25
T filxi — X) 6 5 30 3
B 5 120 1
10 ) 80 1
_ _ 2 5 60 3
1 n 2 2
=5 2 i +X —2XiX)J w4 56 5
16 5 80 7
N=50 [ D7 fix =450
— (N £.2) v 1 N 450
= N(Zi:lflx') X:N i=1 ﬁX':ﬁzg

2

2X(y iy fx) + -

= L0, fix?) 72)'<2+)'<2J

“HTL A X

Bindeshwar Singh Kushwaha (PostNetwork Academy) Question Based on Variance



If x; are observations and f; are frequencies of observations then variance is

Var(X) = & S0, filxi ~ X)? =

(27:1 f,.XI?) _ X2

N
Xi f; fixi x;i — X (x; — )_()2 fi(xi — )_()2
_ 2 Z B 7 19
‘l/ar()n() = s 7 3 16 5 %
T filxi — X) 6 5 30 3 9
B 15 120 1
10 8 80 1
_ _ 2 5 60 3
1 n 2 2
=5 2 i +X —2XiX)J w4 56 5
16 5 80 7
N=50 [ D7 fix =450
— 1y £ 2y Y _ 1 \n 450
_N(Zizlf‘x’) X:N ilfix':ﬁ_9

2

2X(y iy fx) + -

= §(ZL, fixf) —2X7+ X° |

i=1

“HTL A X

Bindeshwar Singh Kushwaha (PostNetwork Academy)

Question Based on Variance



If x; are observations and f; are frequencies of observations then variance is

Var(X) = & S0, filxi ~ X)? =

(27:1 f,.XI?) _ X2

N
Xi f; fixi x;i — X (x; — )_()2 fi(xi — )_()2
_ 2 4 B 7 19
‘l/ar()n() = s 7 3 16 5 %
T filxi — X) 6 5 30 3 9
B 15 120 1 1
10 ) 80 1
_ _ 2 5 60 3
1 n 2 2
=5 2 i +X —2XiX)J w4 56 5
16 5 80 7
N=50 [ D7 fix =450
— 1S £e2) v 1" __ 450
_N(Z,‘:lf;xl) X:N ilﬁx.zﬁ_g

2

2X(y iy fx) + -

= §(ZL, fixf) —2X7+ X° |

i=1

“HTL A X

Bindeshwar Singh Kushwaha (PostNetwork Academy)

Question Based on Variance



If x; are observations and f; are frequencies of observations then variance is
1\ ¥\2 _ 1 n 2 )
Var(X): Nzizl ﬁ(X,'*X) = N(Z,’:l ﬁX,-)*X

Xj f; ﬁX,‘ Xi — )_< (X,' - 5()2 f}(X,‘ - )_<)2
_ 2 4 8 7 49
‘l/ar()n() = s 2 | 4 16 5 25
T filxi — X) 6 5 30 3 9
3 15 120 1 1
10 8 80 1 1
_ - i) 5 60 3
1 n 2 2
=¥ 2 il +X —2XiX)J 1z 3 56 5
16 5 80 7
N=50 [ D7 fix =450
— 1y £ 2y Y _ 1 \n 450
_N(Z,‘:lf;xl) X:N i=1 f;X:¥:9

2

2X(y iy fx) + -

= L0, fix?) 72)'<2+)'<2J

“HTL A X

Bindeshwar Singh Kushwaha (PostNetwork Academy) Question Based on Variance



If x; are observations and f; are frequencies of observations then variance is
1\ ¥\2 _ 1 n 2 )
Var(X): Nzizl ﬁ(X,'*X) = N(Z,’:l ﬁX,-)*X

Xi f; fixi x;i — X (x; — )_()2 fi(xi — )_()2
_ 2 Z B 7 19
‘l/ar()n() = s 2 | 4 16 5 25
T filxi — X) 6 5 30 3 9
B 5 120 1 il
10 ) 80 1 1
_ _ 2 5 60 3 9
1 n 2 2
=¥ 2 il +X —2XiX)J 1z 3 56 5
16 5 80 7
N=50 Zi”:l fix; = 450
1 N __ 450
N iz fixi = 55 =9

2

= %(Z:’:l f;xlz) - _ )_< =
2X(h 3op ) +

= §(ZL, fixf) —2X + X7 |

i=1

“HTL A -X

Bindeshwar Singh Kushwaha (PostNetwork Academy)

Question Based on Variance



If x; are observations and f; are frequencies of observations then variance is
Var(X) = £ >0 filxi — X)* = 5 (00, fix?) — X?

N
Xj f; ﬁX,‘ Xi — )_< (X,' - 5()2 f;'(X,' - )_<)2
_ 2 4 B 7 19
‘l/ar()n() = s 2 | 4 16 5 25
T filxi — X) 6 5 30 3 9
B 5 120 1 il
10 ) 80 1 T
_ _ 2 5 60 3 9
1 n 2 2
=5 2 i +X —2XiX)J w4 56 5 5
16 5 80 7
N=50 [ D7 fix =450
1 n 2 < -
:N(Zizlﬁxi)_ X:% 7:17(")(':%:9
- 2
2X(h 3op ) +

= L0, fix?) ’25(2*)_(2)

“HTL A -X

Bindeshwar Singh Kushwaha (PostNetwork Academy) Question Based on Variance



If x; are observations and f; are frequencies of observations then variance is
1\ ¥\2 _ 1 n 2 )
Var(X): Nzizl ﬁ(X,'*X) = N(Z,’:l ﬁX,-)*X

Xi f; fixi x;i — X (x; — )_()2 fi(xi — )_()2
_ 2 Z 3 7 9
‘l/ar()n() = s 2 | 4 16 5 25
T filxi — X) 6 5 30 3 9
B 15 120 =) 1
10 3 80 1 1
_ _ 2 5 60 3 9
1 n 2 2
=5 2 i +X —2XiX)J w4 56 5 5
16 5 80 7 19
N=50 Zi”:l fix; = 450
1 ~~n __ 450
N iz fixi = 55 =9

2

= %(Z:’:l f;xlz) - _ )_< =
2X(h 3op ) +

= L0, fix?) ’25(2*)_(2)

“HTL A -X

Bindeshwar Singh Kushwaha (PostNetwork Academy)

Question Based on Variance



If x; are observations and f; are frequencies of observations then variance is
1\ ¥\2 _ 1 n 2 )
Var(X): Nzizl ﬁ(X,'*X) = N(Z,’:l ﬁX,-)*X

Xj f; ﬁX,‘ Xi — )_< (X,' - 5()2 f;'(X,' - )_<)2
_ 2 4 8 7 49 196
‘l/ar()n() = s 2 | 4 16 5 25
T filxi — X) 6 5 30 3 9
B 15 120 1 T
10 8 80 T T
_ _ 12 5 60 3 9
1 n 2 2
=5 2 i +X —2XiX)J w4 56 5 5
16 5 80 7 49
N=50 [ D7 fix =450
1 n 2 < ~
:N(Z,‘:lﬁxi)_ X:% 7:1f}X':%:9
- %2
2X(% S0, f) + M

= L0, fix?) ’25(2*)_(2)

“HTL A -X

Bindeshwar Singh Kushwaha (PostNetwork Academy) Question Based on Variance



If x; are observations and f; are frequencies of observations then variance is

Var(X) = 5 >, filxi — X)? = 0o, fix?) — X2

Xi f; fixi x;i — X (x; — )_()2 fi(xi — )_()2
_ 2 Z B 7 19 196
‘l/ar()n() = s 2 | 4 16 5 25 100
T filxi — X) 6 5 30 3 9
B 5 120 1 il
10 ) 80 1 1
_ _ 2 5 60 3 9
1 n 2 2
=5 2 i +X —2XiX)J w4 56 5 5
16 5 80 7 29
N=50 [ D7 fix =450
1 n 2 < -
:N(Zizlﬁxi)_ X:% 7:17(")(':%:9
- 2
2K (4 31, ) + 55

= L0, fix?) ’25(2*)_(2)

“HTL A -X

Bindeshwar Singh Kushwaha (PostNetwork Academy) Question Based on Variance



If x; are observations and f; are frequencies of observations then variance is

Var(X) = 5 >, filxi — X)? = 0o, fix?) — X2

Xi f; fixi x;i — X (x; — )_()2 fi(xi — )_()2
_ 2 4 3 7 9 196
‘l/ar()n() = s 2 | 4 16 5 25 100
N Doy filxi = X) 6 5 30 3 9 45
5 | 15 120 a1 1
0] 8 30 1 1
_ _ 2] 5 %0 3 9
1 n 2 2
= i 0 +X —2XiX)J W 4 56 5 %5
6] 5 80 7 9
N=50 [ D7 fix =450
1 n 2 < ~
:N(Zizlﬁxi)_ X:% 7:17(")(':%:9
= 2
2X( 2o fixi) + M5

= L0, fix?) ’25(2*)_(2)

“HTL A -X

Bindeshwar Singh Kushwaha (PostNetwork Academy) Question Based on Variance



If x; are observations and f; are frequencies of observations then variance is

Var(X) = 5 >, filxi — X)? = 0o, fix?) — X2

Xi f; fixi x;i — X (x; — )_()2 fi(xi — )_()2
_ 2 4 3 7 49 196
‘l/ar()n() = s 2 | 4 16 5 25 100
N Doy filxi = X) 6 5 30 3 9 45
5 | 15 120 a1 1 15
0] 8 80 1 1
_ - 2] 5 60 3 9
1 n 2 2
=5 2 i +X —2XiX)J w4 56 5 5
6| 5 80 7 9
N=50 [ D7 fix =450
1 n 2 v B
:N(Z,‘:lﬁxi)_ X:% 7:1f}X':%:9
= 2
2X( 2o fixi) + M5

= L0, fix?) ’25(2*)_(2)

“HTL A -X

Bindeshwar Singh Kushwaha (PostNetwork Academy) Question Based on Variance



If x; are observations and f; are frequencies of observations then variance is
1\ ¥\2 _ 1 n 2 )
Var(X): Nzizl ﬁ(X,'*X) = N(Z,’:l ﬁX,-)*X

Xi f; fixi x;i — X (x; — )_()2 fi(xi — )_()2
_ 2 7 3 7 49 196
‘l/ar()n() = s 2 | 4 16 5 25 100
T filxi — X) 6 5 30 3 9 45
3 15 120 1 1 15
10 8 80 1 1 8
_ _ 2 5 60 3 9
1 n 2 2
=5 2 i +X —2XiX)J w4 56 5 5
16 5 80 7 29
N=50 [ D7 fix =450
1\ _ 450
N 2i—fiXi =5 =9

2

= %(Z:’:l f;xlz) - _ )_< =
2X(h 3op ) +

i=1

= §(ZL, fixf) —2X + X7 |

“HTL A -X

Bindeshwar Singh Kushwaha (PostNetwork Academy)

Question Based on Variance



If x; are observations and f; are frequencies of observations then variance is
1\ ¥\2 _ 1 n 2 )
Var(X): Nzizl ﬁ(X,'*X) = N(Z,’:l ﬁX,-)*X

Xj f; ﬁX,‘ Xi — )_< (X,' - 5()2 f;'(X,' - )_<)2
_ 2 4 8 7 79 196
‘l/ar()n() = s 2 | 4 16 5 25 100
N Doy filxi = X) 6 5 30 3 9 45
8 15 120 1 1 15
10 8 80 i I 8
_ _ i) 5 ) 3 9 75
1 n 2 2
=5 2 i +X —2XiX)J w4 56 5 5
16 5 80 7 79
N=50 Zi”:l fix; = 450
1~ __ 450
n2im fixi= % =9

2

= %(Z:’:l f;xlz) - _ )_< =
2X(h 3op ) +

= L0, fix?) ’25(2*)_(2)

“HTL A -X

Bindeshwar Singh Kushwaha (PostNetwork Academy)

Question Based on Variance



If x; are observations and f; are frequencies of observations then variance is
1\ ¥\2 _ 1 n 2 )
Var(X): Nzizl ﬁ(X,'*X) = N(Z,’:l ﬁX,-)*X

Xi fi fixi xi— X | (i — )_()2 fi(xi — )_()2
_ 2 Z B 7 49 196
\l/ar()n<) B =3 4 4 16 -5 25 100
T filxi — X) 6 5 30 3 9 45
3 15 120 1 1 15
10 8 80 1 1 8
_ _ 2 5 60 3 9 75
1 n 2 2
=5 2 i +X —2XiX)J % 4 56 5 %5 100
16 5 80 7 29
N=50 [ D7 fix =450
1\ _ 450
N 2i—fiXi =5 =9

2

= %(Z:’:l f;xlz) - _ )_< =
2X(h 3op ) +

= §(ZL, fixf) —2X + X7 |

i=1

“HTL A -X

Bindeshwar Singh Kushwaha (PostNetwork Academy)

Question Based on Variance



If x; are observations and f; are frequencies of observations then variance is
1\ ¥\2 _ 1 n 2 )
Var(X): Nzizl ﬁ(X,'*X) = N(Z,’:l ﬁX,-)*X

Xi f; fixi x;i — X (x; — )_()2 fi(xi — )_()2
_ 2 Z B 7 19 196
\l/ar()n<) B =3 4 4 16 -5 25 100
T filxi — X) 6 5 30 3 9 45
B 5 120 1 il 15
10 3 80 1 1 8
_ _ 2 5 60 3 9 a5
1 n 2 2
=5 2 i +X —2XiX)J % 4 56 5 25 100
16 5 80 7 29 245
N=50 Zi”:l fix; = 450
1 N __ 450
N i1 fixi= % =9

2

= %(Z:’:l f;xlz) - _ )_< =
2X(h 3op ) +

= §(ZL, fixf) —2X + X7 |

i=1

“HTL A -X

Bindeshwar Singh Kushwaha (PostNetwork Academy)

Question Based on Variance



If x; are observations and f; are frequencies of observations then variance is
1\ ¥\2 _ 1 n 2 )
Var(X): Nzizl ﬁ(X,'*X) = N(Z,’:l ﬁX,-)*X

Xj f; ﬁX,‘ Xi — )_< (X,' - 5()2 f;'(X,' - )_<)2
_ 2 71 B 7 19 196
\l/ar()n<) B =3 4 4 16 -5 25 100
T filxi — X) 6 5 30 3 9 45
8 15 120 1 1 15
10 ) 80 1 T ]
_ _ 2 5 60 3 9 15
1 n 2 2
=5 2 i +X —2XiX)J % 4 56 5 25 100
16 5 80 7 29 245
N=50 Zi”fl fix; = 450 Z,"fl fi(x; — X)? = 754
1 n 2 < = =
= H(SL, ) SR SN P
= 2
2X(h 3., ) + 5

= §(ZL, fixf) —2X + X7 |

i=1

“HTL A -X

Bindeshwar Singh Kushwaha (PostNetwork Academy) Question Based on Variance



If x; are observations and f; are frequencies of observations then variance is
1\ ¥\2 _ 1 n 2 )
Var(X): Nzizl ﬁ(X,'*X) = N(Z,’:l ﬁX,-)*X

Xj f; ﬁX,‘ Xi — )_< (X,' - 5()2 f;'(X,' - )_<)2
_ 2 71 B 7 19 196
\l/ar()n<) B =3 4 4 16 -5 25 100
T filxi — X) 6 5 30 3 9 45
8 15 120 1 1 15
10 ) 80 1 T ]
_ _ 2 5 60 3 9 15
1 n 2 2
=5 2 i +X —2XiX)J % 4 56 5 25 100
16 5 80 7 29 245
N=50 Zi”fl fix; = 450 Z,"fl fi(x; — X)? = 754
1 n 2 < = =
= H(SL, ) SR SN P
= 2
2X(h 3., ) + 5

= §(ZL, fixf) —2X + X7 |

i=1

“HTL A -X

Bindeshwar Singh Kushwaha (PostNetwork Academy) Question Based on Variance



If x; are observations and f; are frequencies of observations then variance is
1\ ¥\2 _ 1 n 2 )
Var(X): Nzizl ﬁ(X,'*X) = N(Z,’:l ﬁX,-)*X

Xj f; ﬁX,‘ Xi — )_< (X,' - 5()2 f;'(X,' - )_<)2
_ 2 4 8 7 49 196
\l/ar()n<) B =3 4 4 16 -5 25 100
T filxi — X) 6 5 30 3 9 45
8 15 120 1 1 15
10 8 80 1 1 8
_ - 12 5 60 3 9 5
1 n 2 2
= i 0 +X —2XiX)J W 4 56 5 %5 100
16 5 80 7 49 245
N=50 [ D7 fix =450 DT fil —X)? =754
_ LN 02y Y _ 1~n —_ 450 _ B
-NEZi:rrl ol NX2 X=17 Ei:fl ixi = w0 =9 754
S  \: _ n 2 _
2X(y 2o fixi) + 54 Var(X) = £ S0 fi(x — X)? = 24 = 15,5

= §(ZL, fixf) —2X + X7 |

i=1

“HTL A -X

Bindeshwar Singh Kushwaha (PostNetwork Academy) Question Based on Variance



